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Pr(Y, =1)= exp(S, + AiZ:)
I 1+ eXp(ﬁo +ﬁlzi)

m =Pr(Y, =1)

{Yi Iog(lf‘”i] +n,log(l—7,)+ |og[$: ]]
[Yi (B, + B.Z,)-n, logL+exp(B, + BZ, )]+ Iog(s: H /
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IML
proc iml; r
/start logistic(beta) global(y, X, n); )

logL= sum(y # (beta[1] + beta[2] # X) —

n # log(1 + exp(beta[l] + beta[2] # X)));
return(logL);
\finish; J
(init={L 1) <----
(optn={1 1};]<----
Qall rc, result, "LOGISTIC", init, optn); /




NLP

proc nlp data=beetle vardef=n cov=h
tech=quanew; «----

max logL;|«------ logL
parms betal=1, beta2=1;¢----
109'— Wyl * (betal + beta2 * x)]—

n *log(1 + exp(betal + beta2 * x));

run; (1/
\ ¥ V.08, + £,2. 540, log[L+ exp(5, + A,Z, ]-!-Iog( ﬂ J

NLMIXED

proc nimixed data=beetle tech=quanew;
parms betal=1 beta2=1; ;. NLP

logL = y1 * (betal + beta2 * x) —
n *log(1l + exp(betal + beta2 * x));

[model yl~ generaI(IOgL);]<....
run;
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2,764,734
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Preston DL et al. Radiation Research 2007; 168: 1-64.

2o(c,s,a,e,1)=exp(yys + 7,c+ yscx 1+ S (a)+ S, (e))

E(%j = (c.s,a.e,1 \1+[B)d exp(y.e + 7, log(a)))
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